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Subiracting Decimals within 1
LO: | can subtract decimals using a variety of methods.

How will you know that you have been successful? \ / \

What am | looking for?

Stem sentence

You will be able to identify the value of each digit in a decimal number up to 3 There are ______ hundredths.
decimal places

You will be able to use place value counters on a place value grid to subtract ____tenths/hundredths are
decimals

You will be able to use your knowledge of exchange to subtract decimals subtracted.
efficiently

subtract equals



https://classroomsecrets.co.uk/content-domain-filter/?fwp_contentdomain=5f7
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SS8AR —= 3+2=5  Activating Prior Learning

H

Concrete Pictorial Abstract

|

We can be flexible with our knowledge of place value.

ones tenths hundredths | thousandths

0 ¢+ 9 3 4

0.936 = 9 tenths, 3 hundredths and é thousandths
0.936 also = 93 hundredths and é thousandths
0.936 also = 936 thousandths
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seshn —— Activating Prior Knowledge: }

Concre te

Ones Tenths .

There are 6 tenths and 7 hundredths.

There are 67 hundredths
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Stem sentence

There are 67 hundredths. 35

hundredths are subtracted.

0.67 subtract 0.35 equals 0.32

~




ccclil :: New Learning: What calculation is represented here? Can you use the stem sentence to
| describe the calculation that is represented?

Concre t Pictorial

3+2=5

Abstract

ol — o

||

O .\
’9/\1’@’ There are 7 7 hundredths. L\_ tenths are subtracted.
o . 2/ O 11 subtract O equals D-2 1




eccchl —— New Learning: We are going to subtract 4 tenths, or 3+2=5

0.4.

4 N

Stem sentence

S
0O  etth hth

O ® 7 7 There are 77 hundredths. 4

O
: - o ¢ L&_ 6 tenths are subtracted.

0 ® 7 7 0.77 subtract 0.4 equals 0.37
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cooll = Practice: What calculation is represented here? Can you use the stem sentence to
describe the calculation that is represented?

e
Concre t Pictorial

3+2=5

Abstract

There are IS O hundredths. 9‘3 hundredths are subtracted.
O % subtract O 13 equals O - Q7




G8sMA == New Learning:

. We can also use a place value chart to complete this calculation.
3+2=5 Model the number 0.8. We are going to subtract 0.23.
What do you think we need to do?

Abstract




= New Learning:

We can also use a place value chart to complete this calculation.
3+2=5 Model the number 0.8. We are going to subtract 0.23.
What do you think we need to do?
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3+2=5

New Learning:

We can record this as a calculation using the column method:

hth




i 3 +2 =5

Independent Learning:

Pictorial Abstract

|

~

[ Complete the rest of the questions for this lesson.
/ Section 1 - No exchange \ / Section 2
For each question, record your working pictorially, use For each question, record your working pictorially, use
the stem sentence and then write the column addition. the stem sentence and then write the column addition.
1 0.77-0.24 = 1 0.52-0.37=
2 0.58-0.4-= 2 0.9-0.52=
3 0.98-0.24 = 3 0.43-0.28=
4 0.64-0.34-= 4 0.8-0.39=
\ 5 048-0.2= / \ 5 0.71-0.08 =
4 : : :
Example of recording (Section 1, Question 1)
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